CIELABU2 standard lightness I* (il

CIELABUZ relative standard lightnessI*/I* ,
Yo=Yy =100.
I* nc” YW nc— ’

I Yoc=Yw =100,

I CiELABU2 B (Y/Y) 259 (¥,=18, Y, /100<Y<=Y, )

I CiELABU2 B YIY) 259 (¥,=18, ¥,/100<Y<=Y,)
I*\(3,6)=22,* ,(18)=50,I*,,(90)=103

1* (3,6)=22 I ,(18)=50,1* \,/(90)=103
* =102, 79v—2 5, 11/—1/2 5= o 40 * goll* =2 os rz 5, 1y—1/2 50,40
I*15=50,0Q §;=58,42 D I* m’l 42
13,622,195 :50 .00 \g—18 [/ =o 44 |* :50 .00 \g—18
log[I* /I* ;]=0, m,=0,46

log[I*/I* =0, m,=0,46

:Yu:18
VB8 T Vi=9h

Iog(AY) CIELABu2 Iog(AY/AY) CIELABU2 relative
AY tristimulus value difference AY/AY, tristimulus value difference
Yoc=Yw  nc=100, i YocmYw  nc=100,
I CiELABU2 B (YY) 259 (¥,=18, Y, /100<Y<=Y, ) I CiELABU2 B Y/Y) 259 (¥,=18, Y,/ 100Y<=Y,)
log(dY) = (1/2,5) log[2,5¢,//58)] + [1-(1/2,5)] log¥) log(dY/dY,) = [1-(1/2,5)] log¥//Y,)

dYoo/dY,=2,62,y=2,5, 14=1/2,5=0,40
dY;g/dY,=1,00 S5 420——842
dYs ¢dY,=0,37, Y,=18, dY=4

7~ =50, dY,=4,27, dY,/Y,=0,2377 _
dYe=11,23y=2.5, ’11/—1/2,5 0, log[(dY(dY),]=0, m,=0,60 .~
dY,g=4,27, ,=58,42 D,=-8,42 /
Y3 1,52 V=18, dY=4,27

YN=3.6 1 Yy=90

log (AY/Y) CIELABu2 log [(AY/Y) I (AYIY)] CIELABuU2 relative
_ tristimulus value sensitivity _ tistimulus value sensitivity
S=(@AYY) Yo=Y - =100, SSu=OYMIBYNy . =y, =100,
I CiELABU2 B (YY) 259 (¥,=18, Y, /100<Y<=Y, ) I CiELABU2 B YY) 259 (=18, ¥,/ 100Y<=Y, )
log(dY/Y) = log[2,5(/,/58)] - (1/2,5) log{/Y,,) log[(dY/YV)/(dY/Y),] = - (1/2,5) log¥/Y,,)
= (1/2,5) log[2,5¢,/58)] - (1/2,5) log¥)

. (dYMN(dY/Y)=0,52,y=2,5, 1=1/2,5=0,40
S (dY/Y)g @ VIY)=1,00 §=58,42 Dn:—s,42
log(dY/Y)F~0,62 m,=-0, 39\ 5oL appicaton (dY/Yyd(dYiry,~1.89

- NG application
< =50, dY,=4,27, dY, /Y 0 2377 | e fange range

(AY/Y}=0,1248y=2,5, 1{/=1/2,8=0,40 log[(dY/YY(dY/Y),]=0, m=-0,39
dY/Y)g=0.2377 §,=58,42 Dy=—p,42 e _ -
g dwv%il 2 451& e & " 25 I* =50, dY,=4.27, dY,/Y,=0,2377

1Y,=18
YN=36 ) Yw=90 YN=3.6

Yy=90

log (Y/AY) CIELABu2 log [(Y/AY) I (YIAY),] CIELABU2 relative
- tristimulus value contrast - tistimulus value contrast
C,=(Y/nY) Yu=Yu =100 CrlCry =(YIAVY(YIAY)y y =v,,,

=100,
I CiELABU2 B (YY) 259 (¥,=18, ¥, /100<Y<=Y, ) I CiELABU2 B YY) 259 (=18, ¥,/ 100Y<=Y, )
log(Y/dY)= - log[2,5(/,/58)] + (1/2,5) log¥/Y,) logI(Y/dY)/(Y/dY),] = (1/2,5) loglY/Y,)

= - (1/2,5) 10g[2,5¢(,/58)] + (1/2,5) log{)

(Y/dYpo/(Y/dY)=1,90,y=2,5, 1§=1/2,5=0,40

(Y/dY)g/(Y/dY)=1,00 §=58,42 D,=—8,42
(YIdY} f/(Y/dY)=0,52, Y,=18, dY=4,27

(Y/dY}=5,00,y=2,5, 14=1/2,5=0,40
(Y/dYYs=4.20 S§=58,42 D,=—8,42  application
(YIdY} 2,21 Y,=18 dY=4,271  range
ly,=18
Yn=3.6  Yy=90 Yn=3,6

Yy=90




